VERIFY.FTGS.US

TO VALIDATE, GO TO | Certificate Number : DWTC-COO-62307-6880e905b4a67

Date: July 23, 2025

Seller (Exporter) STOLLE MACHINERY Company, LLC 6949 South Potomac Street	Transport Type Air	Port of Loading Denver
Centennial CO 80112 USA	Destination Country China	Destination Port Shanghai
Consignee	Export Date ************************************	Exporting Carrier **********************************
STOLLE MACHINERY (SHANGHAI) COMPANY LIMITED UNIT 101 1ST FLOOR NO 318 FASAI RD SHANGHAI WAIGAOOIAO FREE TRADE	Import Permit Number	Bill of Lading / AWB
P.R. SHANGHAI 200131 China	Owner or Agent	Forwarding Agent ************************************

Z108461 / 99784675

Consignor reference: C291221

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
086625 - BEARING, CONE	6.1689195 KG	United States
H.S.Code: 8482.20 Marks: qty: 2		
086626 - BEARING, CUP	3.5380567 KG	United States
H.S.Code: 8482.20 Marks: qty: 2		
======================================		
	XXXXX XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	
	N WWW WITH THE	

Name of Authorized Trade Association

Buyer (Importer)



accuracy and completeness of this certificate and accompanying documents.

In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.

The Applicant is authorized five the undertakings set out herein.

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

- The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin

applicable in the country(ies) to those goods.

-The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD") is accurate, true and complete.

The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any innacuracy, omission or change in such information, or in the origin of goods.

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.



B/L

Stolle Machinery Company LLC 6949 S. Potomac Street

Centennial CO 80112 USA Phone: 303-708-9044

Commercial Invoice For Customs Clearance

Invoice Number: 490760

Date: 6/11/2025

186 Bill To

STOLLE MACHINERY (SHANGHAI) COMPANY LIMITED UNIT 101 1ST FLOOR NO 318 FASAI RD SHANGHAI WAIGAOQIAO FREE TRADE P.R.

SHANGHAI, CHINA 200131

SHIPPING METHOD **NUMBER PCS / WEIGHT**

1.00 / 220.45 kg

ADP Global Logistics, Inc.

1 crate 56x37x27

Consignee

186

STOLLE MACHINERY (SHANGHAI) COMPANY LIMITED

UNIT 101 1ST FLOOR NO 318 FASAI RD SHANGHAI WAIGAOQIAO FREE TRADE

P.R.

SHANGHAI, CHINA 200131

INCOTERMS

Exwk Centennial CO Incoterms 2010

TERMS

90 Days Net

PRO NO ITN

Order No. Line No. Rel No.	PO Number Part Number Part Number Description	HS Classification Country of Origin	Qty. Delivered Unit of Measure Notes	Unit Value USD	Total Value USD	Net Weight Each	Net Weight Total	
C292325	Z108508	3926904500	1.00	39.06	39.06	0.068	0.07 kg	
3	086618	UNITED STATES	EA				Č	
1	SEAL, PISTON ID - EATON							
	Total HS Code - DOMESTIC	3926904500	1.00		39.06		0.07 kg	
	Total HS Code - FOREIGN	3926904500			_			
	Total HS Code - TOTAL	3926904500	1.00		39.06		0.07 kg	-
C292325	Z108508	4016930000	4.00	1.82	7.26	0.020	0.08 kg	
11	086712	CHINA	EA					
1	WASHER, RUBBER - EATON							
C290980	Z108452	4016930000	8.00	1.82	14.53	0.020	0.16 kg	
5	086712	CHINA	EA					
1	WASHER, RUBBER - EATON							
	Total HS Code - DOMESTIC	4016930000						
	Total HS Code - FOREIGN	4016930000	12.00		21.79		0.24 kg	_
	Total HS Code - TOTAL	4016930000	12.00		21.79		0.24 kg	-
C292216	Z108501	7307992000	2.00	62.68	125.36	0.420	0.84 kg	
11	SN085399	UNITED STATES	EA					
CENIZA	SWIVEL, HOSE - PARKER							
AL DEN	Total HS Code DOMESTIC	73079920 0 73079 2000	2.00		125.36		0.84 kg	
ORADO HARIII	Total HS Code - TOTAL	Child !	2.00		125.36		0.84 kg	-
ttProformaCommvo	ice.rpt -rev.3000							Р



Stolle Machinery Company LLC

6949 S. Potomac Street Centennial CO 80112 USA Phone: 303-708-9044

Commercial Invoice For Customs Clearance

Invoice Number: 490760

Date: 6/11/2025

C292552	Z108518	7307994000	2.00	7.27	14.54	0.091	0.18 kg
7	730155	MEXICO	EA				
1	FITTING, CONNECTOR, MALE, 1/20D						
	X 1/2NPT, BRASS						
	Total HS Code - DOMESTIC	7307994000					
	Total HS Code - FOREIGN	7307994000	2.00		14.54		0.18 kg
	Total HS Code - TOTAL	7307994000	2.00		14.54		0.18 kg
C291848	Z108482	7318220000	2.00	83.58	167.17	0.136	0.27 kg
4	114495	CZECH REPUBLIC	EA				
1	WASHER, BOTTOMING DIE .236 THK						
C291066	Z108457	7318220000	2.00	120.82	241.65	0.227	0.45 kg
7	116026	UNITED STATES	EA				
1	SPACER, SMALL CENTER LINKS						
	Total HS Code - DOMESTIC	7318220000	2.00		241.65		0.45 kg
	Total HS Code - FOREIGN	7318220000	2.00		167.17		0.27 kg
	Total HS Code - TOTAL	7318220000	4.00		408.82		0.73 kg
C291327	Z108463	7318240000	1.00	79.94	79.94	0.159	0.16 kg
14	309443	CHINA	EA				
1	KEY, ADJ DISC TRANS MOD BUSHINGS						
	Total HS Code - DOMESTIC	7318240000	entime measure				
	Total HS Code - FOREIGN	7318240000	1.00		79.94		0.16 kg
	Total HS Code - TOTAL	7318240000	1.00		79.94		0.16 kg
C292552	Z108518	7412200000	2.00	8.18	16.35	0.113	0.23 kg
8	730832	MEXICO	EA				
1	FITTING, WEATHERHEAD 1468X8X12 BRAS						
	Total HS Code - DOMESTIC	7412200000					
	Total HS Code - FOREIGN	7412200000	2.00		16.35		0.23 kg
	Total HS Code - TOTAL	7412200000	2.00		16.35		0.23 kg
C292552	Z108518	7419805500	6.00	3.63	21.79	0.023	0.14 kg
AL D	700926 FV. TD - FVERHEAD 1/693	ITALY	EA				
ka we	FITTO FYERHEAD 1/69X	Orlans-					



Stolle Machinery Company LLC 6949 S. Potomac Street

Centennial CO 80112 USA Phone: 303-708-9044

Commercial Invoice For Customs Clearance

Invoice Number: 490760

Date: 6/11/2025

	Total HS Code - DOMESTIC	7419805500					
	Total HS Code - FOREIGN	7419805500	6.00		21.79		0.14 kg
	Total HS Code - TOTAL	7419805500	6.00		21.79		0.14 kg
292552	Z108518	8443913000	2.00	4,633.14	9,266.29	9.662	19.32 kg
1	217116	UNITED STATES	EA				
	ASSEMBLY, FOUNTAIN 8" RMO/GMI						
C290968	Z108453	8443913000	1.00	1,071.98	1,071.98	10.387	10.39 kg
t	222012580	UNITED STATES	EA				
l	ASSY, 24MRT TRIP ARM						
C290601	Z108441	8443913000	1.00	32.70	32.70	0.023	0.02 kg
0	300310	UNITED STATES	EA				
l	HANDLE						
C289789	Z108404	8443913000	1.00	543.26	543.26	2.064	2.06 kg
3	222046020	UNITED STATES	EA				
l	ASSY, FORM ROLL SHAFT, STD/500mL UPPER						
	Total HS Code - DOMESTIC	8443913000	5.00		10,914.23		31.80 kg
	Total HS Code - FOREIGN	8443913000					
	Total HS Code - TOTAL	8443913000	5.00		10,914.23		31.80 kg
291694	Z108479	8466940002	3.00	684.07	2,052.22	0.816	2.45 kg
5	738751	UNITED STATES	EA				
	SUB-ASSY, INFEED WHEEL 3.622 ID (92mm) 1-PC						
291694	Z108479	8466940002	4.00	274.35	1,097.41	13.789	55.16 kg
251051	716006	THAILAND	EA		-,		
	BUTTRESS BRACKET, MACHINING						
291066	Z108457	8466940002	2.00	1,035.20	2,070.40	1.678	3.36 kg
	114362	UNITED STATES	EA	,			Č
I	ASSY, HOLD DOWN BRUSH						
	W/SPLASH GUARD, Ø2.38"						
	Total HS Code - DOMESTIC	8466940002	5.00		4,122.62		5.81 kg
	Total HS Code - FOREIGN	8466940002	4.00		1,097.41		55.16 kg
200	Total HS Code - TOTAL	8466940002	9.00		5,220.02		60.96 kg
292552	Z108518 12982211 []	7 8481100	1.00	36.34	36.34	0.181	0.18 kg
- O-			EA				



Stolle Machinery Company LLC

6949 S. Potomac Street Centennial CO 80112 USA Phone: 303-708-9044

Commercial Invoice For Customs Clearance

Invoice Number: 490760

Date: 6/11/2025

1	REGULATOR, NORGREN R06-200-RNKA						
C292212	Z108497	8481100060	2.00	314.04	628.08	2.110	4.22 kg
37	087758	UNITED STATES	EA	27	020100		
1	REGULATOR, PILOT OPER,3/4 PORTS						
	Total HS Code - DOMESTIC	8481100060	2.00	***	628.08		4.22 kg
	Total HS Code - FOREIGN	8481100060	1.00		36.34		0.18 kg
	Total HS Code - TOTAL	8481100060	3.00		664.42		4.40 kg
C291221	Z108461	8482200040	2.00	130.23	260.46	1.769	3.54 kg
3	086626	UNITED STATES	EA				
_1	BEARING, CUP						
	Total HS Code - DOMESTIC	8482200040	2.00		260.46		3.54 kg
	Total HS Code - FOREIGN	8482200040					
	Total HS Code - TOTAL	8482200040	2.00		260.46		3.54 kg
C291221	Z108461	8482200080	2.00	365.40	730.80	3.084	6.17 kg
2	086625	UNITED STATES	EA				
1	BEARING, CONE		<u></u> .				
	Total HS Code - DOMESTIC	8482200080	2.00		730.80		6.17 kg
	Total HS Code - FOREIGN	8482200080					
	Total HS Code - TOTAL	8482200080	2.00		730.80		6.17 kg
C292325	Z108508	8483608000	1.00	965.56	965.56	7.303	7.30 kg
12	086737	UNITED STATES	EA				
1	SUB-ASSY, 21DCB BUSHING KIT - EATON						
	Total HS Code - DOMESTIC	8483608000	1.00	•	965.56		7.30 kg
	Total HS Code - FOREIGN	8483608000					
	Total HS Code - TOTAL	8483608000	1.00		965.56		7.30 kg
C292326	Z108509	8483908010	1.00	656.00	656.00	1.746	1.75 kg
5	095580	UNITED STATES	EA				
1	ROTOR SEAL						
C292326	Z108509	8483908010	4.00	29.23	116.93	0.040	0.16 kg
CORPORATE	086741	UNITED STATES	EA				
1989 m	086741 KIT 5/4 QRVE END AP	alum					



Stolle Machinery Company LLC

6949 S. Potomac Street Centennial CO 80112 USA Phone: 303-708-9044

Commercial Invoice For Customs Clearance

Weight UoM

220.45

0.00

Total

kg

kg

Invoice	Number:	490760
	Date:	6/11/2025

C292325	Z108508	8483908010	1.00	2,723.20	2,723.20	17.418	17.42 kg
10	086629	UNITED STATES	SET				
1	ASSY, 21DCB BRAKE FRICTION DISC						
C292325	Z108508	8483908010	1.00	179.87	179.87	0.068	0.07 kg
5	086623	UNITED STATES	EA				
1	KIT, 1" ROTORSEAL REBUILD -						
	EATON						
	Total HS Code - DOMESTIC	8483908010	7.00		3,676.00		19.39 kg
	Total HS Code - FOREIGN	8483908010					
	Total HS Code - TOTAL	8483908010	7.00		3,676.00		19.39 kg
C292212	Z108497	8484100000	5.00	59.86	299.32	0.270	1.35 kg
38	088071	UNITED STATES	EA				
1	SEAL, OIL - CRANKSHAFT						
C291694	Z108479	8484100000	16.00	12.72	203.52	0.240	3.84 kg
37	772880	MEXICO	EA				
1	SEAL, STEEL, 1.625 SHAFT X 2.875						
	BORE .313 WIDTH						
	Total HS Code - DOMESTIC	8484100000	5.00		299.32		1.35 kg
	Total HS Code - FOREIGN	8484100000	16.00		203.52		3.84 kg
	Total HS Code - TOTAL	8484100000	21.00		502.84		5.19 kg
C292552	Z108518	9026200000	1.00	84.49	84.49	0.354	0.35 kg
9	737030	CHINA	EA				
1	GAUGE, LINCOLN 69039						
-	Total HS Code - DOMESTIC	9026200000					
	Total HS Code - FOREIGN	9026200000	1.00		84.49		0.35 kg
	Total HS Code - TOTAL	9026200000	1.00		84.49		0.35 kg
		Grand	l Total:		23,746.49		141.69 kg

Package Type Length Width Height Dims UoM **Net Weight Gross Weight** CRATE 56.00 37.00 27.00 in 0.00 220.45



in Li Moilum



Stolle Machinery Company LLC 6949 S. Potomac Street

Centennial CO 80112 USA Phone: 303-708-9044

Commercial Invoice **For Customs Clearance**

Invoice Number: 490760 Date: 6/11/2025

Signature

These commodities, technology or software were exported from the United States in accordance with the Export Administration Regulations. Diversion contrary to U.S. law is prohibited. ***PRODUCT IS SOLD IN USD AND PAID IN US CURRENCY*

ACCEPTANCE. This order is subject to acceptance by Stolle Machinery Company, LC ("Seller"). Acceptance is conditional upon all terms and conditions stated on the face and reverse sides of this document. The Purchaser's assent to these terms and conditions shall be conclusively presumed: (a) if the Purchaser's retains this Acknowledgment without objection for ten (10) days after receipt, or (b) if the Purchaser accepts all or any part of the goods.

The Seller expressly rejects any terms or conditions proposed by the Purchaser that differ from or add to those stated herein. Once accepted, this order may only be modified in writing, signed by the Seller.